20220t EE =T F R BOE R E R
1.
BEHEEU=R, M=-Elx21P=(xlxz2), W LAUP=

Adx|lzx=22} B.ix|x=1} C.ix|zx=2} D.ix|x=15xr= 3

2.
Z‘Eﬁﬂ{ﬂn}*, 4 =2, H(n+1)an=nan+1’ ')_'\U%E‘Jﬁyﬂ

A.s B.s C.7 D.s

3.

x=1+8

%)ﬁP(Eﬁ)EE%I:{yﬂ—aﬁ G RZHO £, MarMEHN

A.3 B.z (ON] D.-1

4.

cosA:E,cosB=4_, .
£ sapo 5 5 Jsin(4- B) =

FE (e a (o ) MRITRHR, FHRRHS 2 RBAAR, W KEHN

A2 B.-1 C. D>z

6

B S =lnx-x+ LR AR

A4 B.2A Cc.34 D.44
7.

e, ELEBY oo, 45-8 BC-40D=4 X pfERB ap LIEF), WP+ PRI EUETEHE 2

A [6,4+4.f3]  B.[4+/2,8] C.[443,8] D.[6,12]




